Name:
Quiz 7|

MaTH 121-002, Aprin, 2010,
Do not omit seratch work. I need to see all steps. Skipping details will result in a loss of credit.

Thanks and enjoy. Remember, no graphing calculators permitted.

Problem 1 [50pts] Graph 2® + ¢°/4 = 1 and 2¢ +y = 0. Find the points of intersection

algebraically and verify your answer on the graph
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Problem 2 [50pts| Find the demain and range of f(z) = { 2 1 )
T+ x>

and f(3). If g(z) = 3z — 1 then what are the points of intersection for y = f(z) and

y = g(z)?
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